SUPER-533
des E* DESMET-RADIO

F .. 1000 — R 1 =500 — R 2500000 — R 3 : 24500 — R
4250 — R2 300 — RE=20000 — R 7= 10000 — R & = 100.040
— R 92500 — R 10— 1000 — R 11 == 10000 — 7 12 — 10.000—5 (300 —
BRI 10HH—1000 — R 14225000 — R 151 Meg, — R 16¢)0,5
— 0230 — R 171 Meg. — R 1B=0,5 Mep. — R 109 = 25000 ghms — R
D — 430 ohms - O =200 ecm. — O 1 -8 em, — ¢ 2= 500 cot, — ©
320060 o, — O d s 500 om. — O 51000 em, — O 5= T30 o, —
CT-000cin, —CHB=@G0¢cm. —CH=T0cm. - C 101000 e, — C
11— 01 MP. — C12::01 MP. — C 13 = 10000 cm, — € 14 — 300 cm.
— C15=8em. — C18§ 10000 em. — C 17 -0, MF. — © 18 = 1000
e, — 19 =600 cm, — C 20 =300 em. — C 21 - 200 em. — € 22 - 1
MF. — C 22 - 10.000 em. ~— C 24 =200 cm. — © 25 = 10.000 em1, — C
Y 1 MPF, - C®— 10000 e, — C 28— 01 MF, - O2=0MF - C
30 - 8 MF. — [ 31 g8 MF. — O 32 =1 MPF. — C 33 - 1000 ¢

Y FaXpT,
-

Tope SulLr 533 "
Lwmymearr w imchy A T A0 P A i 3L

Cast K I Ll Nde
‘ &5 I d f— = g-.-?—“-__.--_—_-_|:-—;FI




